
1. (a) The film industry is facing the challenge of the
television screens

2. (c) The TV has become popular because of ready
availability and nearness

3. (c) Three things which make cinema so attractive are
scenic beauty, background effects and colour techniques

4. (d) The films have become agents of Goodwill and
cooperation.

5. (d) Cultural context reduces tension of people and brings
harmony.

6. (b) Presenting best products of their cultural heritage
7. (b) Film festivals have proved to be of immense value in

reducing social barriers and colour Prejudices
8. (a) True
9. (a) Monumental means 'Immense'
10. (c) Enlightened means 'Informed'
11. (c) Kheer, Idli is made out rice
12. (d) Rice Janji is a home remedy for diarrhoea
13. (b) A medicine or treatment for disease is 'Remedy'
14. (b) Rice has approximately the same calories as whole

Wheat.
15. (b) 100 gms of serving of rice has not more than 100

calories in it.
16. (d) Brown rice contains Vitamin B and E
17. (d) It is Chinese proverb.
18. (a) It is safe for Diabetic patients to have rice daily and

to choose brown rice in their diet
19. (b) Aziz will say that there was no boy in the class
20. (b) Rashid said that he could work for seven hours daily

1 (a) 7 (b) 13 (b) 19 (b) 25 (b) 31 (b) 37 (a) 43 (a) 49 (a) 55 (b)
2 (c) 8 (a) 14 (b) 20 (b) 26 (b) 32 (d) 38 (c) 44 (b) 50 (a) 56 (a)
3 (c) 9 (a) 15 (b) 21 (b) 27 (a) 33 (c) 39 (c) 45 (b) 51 (a) 57 (b)
4 (d) 10 (c) 16 (d) 22 (d) 28 (c) 34 (a) 40 (b) 46 (b) 52 (a) 58 (c)
5 (d) 11 (c) 17 (d) 23 (c) 29 (c) 35 (c) 41 (b) 47 (c) 53 (d) 59 (d)
6 (b) 12 (d) 18 (a) 24 (b) 30 (a) 36 (c) 42 (c) 48 (b) 54 (d) 60 (d)
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21. (b) He said that he had passed the examination long
before

22. (d) have been living (PRESENT PERFECT
CONTINUOUS TENSE) Rule: has/have +been + verb 1+
Ing

23. (c) is playing (present continuous tense) rule: is/am/are
+ verb + Ing

24. (b) have told (present perfect tense) rule: has/have+ past
participle

25. (b) Global average temperature has increased by 0.7
degree Celsius Industry

26. (b) Energy Use
27. (a) Refrigeration and air conditioning
28. (c) Introduction, body and conclusion
29. (c) We can divide analytical paragraph into three parts
30. (a) It is a paragraph that gives analysis of the pictorial

representation.
31. (b) Peggy and Maddie were the two girls.
32. (d) They found straws of old grass stuck up here and

there along the pathway.
33. (c) Peggy knocked firmly on the front door but there

was no response. Then they went    around the backyard
and knocked there. Still there was no answer. Now they
were sure that the Petronskis had moved away.

34. (a) Straws means 'Wisps'
35. (c) The extract has been taken from 'The hundred

dresses part 2'
36. (c) It was Peggy's idea which Maddie turned over in her

head.
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37. (a) Peggy argued that when she was asking her about
all her dresses Wanda was getting good ideas for her
drawings. Otherwise, she might not have won the contest.

38. (c) Maddie could not sleep because she was feeling bad
for Wanda. She regretted her behaviour towards Wanda.

39. (c) Discoloured is similar to 'Faded'
40. (b) Comparative degree of Hardest is Harder
41. (b) This stanza has been taken from the poem The Ball

Poem'.
42. (c) The boy has lost his ball while playing.
43. (a) He saw the ball going down the street.
44. (b) The ball went into the water.
45. (b) The poet is john Berryman.
46. (b) 'He' refers to the tiger.
47. (c) The tiger watches the stars at night.
48. (b) The cars are patrolling the area
49. (a) Gleaming means same as 'brilliant'
50. (a) The rhyming scheme of stanza is abcc.
51. (a) Mrs. Pumphrey is to be blamed for Tricki's illness.
52. (a) The vet was tactful
53. (d) None of the above

54. (d) Both (a) and (c)
55. (b) Mrs Pumphrey bought four dozen fresh eggs.
56. (a) In the group of ither dog's Tricki was like a silky little

object
57. (b) Jostling means struggling
58. (c) Joe was a greyhound
59. (d) The dog's ignored Tricki because he was an

uninteresting object, he was ill and he was furious. Hence
all of the above is correct.

60. (d) Tricki refused to eat his favourite food, didn't go for
walks and vomited. Hence all of the above are correct.


